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(d) One solution of the equation 2 — 8+ 62+ d =0 is z

-i

Ifd s real, find the value of d and the other two solutions of the equation.
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(c) One of the solutions of z*—22? + hz+180=01is z=—4 (h is a real number).

Find the other solutions, in the form @ bi, and the value of /.
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(c) Onesolution of 42 — 197 + 128z + A=0isz=2+5i.

Tf 4 is real, find the value of 4 and the other two solutions of the equation.
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() One of the solutions of 27° — 1572 + bz—=30=0 isz=3+i (b is a real number).

Find the other solutions, and the value of b.
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(d) One solution of the equation 22° — 522 +cz—5=0isz=1-2i

Tf ¢ is real, find the value of ¢ and the other two solutions of the equation.
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(c) One solution of the equation 2* + Az + 34z —40=0isz=3 +1i.

IfA is a real number, find the value of A and the other two solutions of the equation.
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(d) One solution of the equation z° — 272+ Bz—30=0 is z=-2—1i.

If B is a real number, find the value of B and the other two solutions of the equation.
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~4i is one solution of the equation
2-82+Bz-50=0.

Find the value of B.




image11.png
(c) One solution of the equation 3w® + Aw? — 3w+ 10=0 is w=-2.

Tf 4 is a real number, find the value of 4 and the other two solutions of the equation.
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() w=2-3iisasolution of the equation 3w’ — 14w2 + Aw — 26 = 0, where 4 is real.

Find the value of 4 and the other two solutions of the equation.
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(c) One root of the equation z°—3z+p=0 is z=2-3i

Ifp is a real number, find the value of p and the other roots of the equation.
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